
���������	
 	� �
���	�� 	 ���
��

����������� ������� �� �������� !��" � #����$ � %&������ ��� �# ' ���(
������� ��) ����$� �� �� * +& # ��&)��&�$ ),��� �&,&���$�� ��&�%���� *
-��&)& ��! �&#���� ���� ����������� ., �/ 0 * 1#��&�$ )#�$ , �&��#2 *
3 45 6789: ; <= < >?@?AB CD EFDGFEBAFHIDJ KFL?MBIF H GFN FMBOKB P Q RSTU VVW X Y WZ
[\>Y]^_\^` ab Vb W c ade f W gH WVhi
jklkmk nopop q8r5 ss: qt su678r5 v 764tws:4x

}F

?P

α

�
	�

M

y z y

y

{

y

A

B

C

F = 15
I| `

P = 4
I| `

M = 36
I|K `

cosα = 0.8
W

jklkmk nop} p ~ �5 r� �9: � ��5 v4u�95 9:4x

~F

6P

α

�
	�

M

� y y �

y
y

A

B

C

F = 25
I| `

P = 11
I| `

M = 45
I|K `

cosα = 0.8
W

jklkmk nopn p �s5 ��9: � �57�4� ����5 9:4x

~
F

?P

α

�
	

�

M

� { � {

{
�
{

A

B

C

F = 10
I| `

P = 3
I| `

M = 28
I|K `

cosα = 0.8
W

jklkmk nop� p �487xs: qt su678r5 �s5 �ss:4x

>
F

-P

α

�
	�

M

� � y �

y
y
y
y

A

B

C

F = 20
I| `

P = 2
I| `

M = 93
I|K `

cosα = 0.8
W

jklkmk nop� p 3 7t 7�84u9: qt su678r5
vt7r4� 45 9:4x

}
F

-P

α

�
	

�

M

� y y { �

y
y
y
y

A

B

C

F = 10
I| `

P = 5
I| `

M = 41
I|K `

cosα = 0.8
W

jklkmk nop� p ; 75 xs8u9 �4� 9�s� qt su6ss:4x

>
F-P α

�
	�

M

� { � y z

y
z
yy

A

B

C

F = 5
I| `

P = 2
I| `

M = 34
I|K `

cosα = 0.8
W



jklkmk nop�p ; 7�8s: q8r5 s� � �4�5 4s:4x

~
F

6P

α

�
	

�

M

� y y �

y

�

A

B

C

F = 5
I| `

P = 1
I| `

M = 9
I|K `

cosα = 0.8
W

jklkmk nop� p ; 45 �9s: vt7r4� 45 ;45 �9�su9:4x

>F

6P

α

�
	

�

M

{ y y y

y
y

A

B

C

F = 5
I| `

P = 3
I| `

M = 12
I|K `

cosα = 0.8
W

jklkmk nop� p �r48�9: = 4u4�7 � �95 s:4x

}
F

-P

α

�
	

�

M

y y � y �

y
y
y
y

A

B

C

F = 5
I| `

P = 2
I| `

M = 21
I|K `

cosα = 0.8
W

jklkmk nopo� p ��u48 � �4�5 4� �ts�9:4x

>F

6P

α

�
	

�

M

� z �

�
�
�

A

B

C

F = 15
I| `

P = 4
I| `

M = 48
I|K `

cosα = 0.8
W

jklkmk nopoop �� 75 9:7 �7�487 �7r� 4s:87

>F

-P

α

�
	

�

M

{ y y y �

y
y
y
y

A

B

C

F = 10
I| `

P = 3
I| `

M = 51
I|K `

cosα = 0.8
W

jklkmk nopo} p � 7:t 9: ; 7u64� qt su678r5 9:4x

>
F

-P

α

�
	

�

M

y y � y �

{
y
�

A

B

C

F = 10
I| `

P = 3
I| `

M = 9
I|K `

cosα = 0.8
W

jklkmk nopon p � 7t7�u48 � 7:st   :�s8ws:4x

>
F

?P

α

�
	�

M

{ y y {

{

yA

B

C

F = 15
I| `

P = 2
I| `

M = 36
I|K `

cosα = 0.8
W

jklkmk nopo� p ¡9� 789: = 4u4�7 q8r5 ss:4x

=
F

?P

α

�
	�

M

y z y y

y

{

y

A

B

C

F = 5
I| `

P = 2
I| `

M = 9
I|K `

cosα = 0.8
W



jklkmk nopo� p ��x q876�764¢ vt7r4� 45 9:87

=
F

6P

α

�
	�

M

y z y

y

{

y

A

B

C

F = 15
I| `

P = 4
I| `

M = 36
I|K `

cosα = 0.8
W

jklkmk nopo� p �st¢�84u ~ 9�r78 �s5 �ss:4x

>F �P

α

�
	

�

M

� y y � �

y
y
{
y

A

B

C

F = 20
I| `

P = 3
I| `

M = 118
I|K `

cosα = 0.8
W

jklkmk nopo�p £sr95 9: vt7r46t 7: q8�989:4x

~
F

?P

α

�
	

�

M

� { � {

{
�
{

A

B

C

F = 15
I| `

P = 3
I| `

M = 42
I|K `

cosα = 0.8
W

jklkmk nopo� p � 7� �57r9: ; 7�9� sr v 7�4�9:4x

>F

?P

α

�
	

�

M

� � � �

�
{
yy

A

B

C

F = 5
I| `

P = 10
I| `

M = 10
I|K `

cosα = 0.8
W

jklkmk nopo� p � 9t 96�9:7 q5 487 qt su6ss:87

=F

6P

α

�
	

�

M

� y { y
y
�
y

A

B C

F = 5
I| `

P = 1
I| `

M = 6
I|K `

cosα = 0.8
W

jklkmk nop}� p ¤s�9�75 w   :�s84�   :�s8ws:4x

}
F

?P

α

�
	

�

M

� y y �

�

yA

B

C

F = 15
I| `

P = 1
I| `

M = 27
I|K `

cosα = 0.8
W

jklkmk nop}op ¤s5 84xs8u9 qt su678r5
qt su678r5 9:4x

~F

6P

α

�
	�

M

� y y {

{

yA

B

C

F = 5
I| `

P = 1
I| `

M = 9
I|K `

cosα = 0.8
W

jklkmk nop}} p ¥ 4tu48 qtsu6s� � � 4�5 4s:4x

=
F

�P

α

�
	

�

M

� y y y y

y
y
y

A

B

C

F = 5
I| `

P = 4
I| `

M = 8
I|K `

cosα = 0.8
W



jklkmk nop}n p ¦ r4�u4� �tw¢   :�s8ws:4x

=F

-P

α

�
	

�

M

y y y y z

y
y

{

A

B

C

F = 5
I| `

P = 1
I| `

M = 4
I|K `

cosα = 0.8
W

jklkmk nop}� p

>
F

-P

α

�
	

�

M

y y y y {

y
y

{

A

B

C

F = 5
I| `

P = 2
I| `

M = 8
I|K `

cosα = 0.8
W


